Eksponentit 10

4,86+ 10 =
9,05 x 10° =
10° =
6x10° =

4,42 +10 =

[E—
O
N
|

4,13+ 10° =
7x10° =

—2x10° =

7,28 x 10% =
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Paivimaara:

Pisteet:
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@ EI = .zs Eksponentit 10
660 —

Nimi: Paivamaara: _ Pisteet: __
6,93 = 10* = 0.000693 4,13+ 10° = 0.00413
8,62 x 10% = 862 7 % 10° = 700000
10° = 1000000 —2 x 10°> = —200000
7,04 = 10* = 0.000704 10° = 100000
4,86+ 10 = 0.486 3 x 10° = 3000
9,05 x 10> = 905000 1 x 10* = 10000
10° = 1000 4,82+ 10° = 4.82E — 05
6 x 10° = 6000 10° = 100000
4,42+ 10 = 0.442 10° = 1000
10* = 10000 7,28 x 10* =728
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